
�� О� �/&�/   
в Eу5Nект4E  оEE89Eко9 $едеD4F88,  

пD8уDоGе==Kе ко �=N �о5едK, 6клNG4O DоD<4тK GеEт6о64=8O  
6етеD4=о6 �ел8ко9 ОтеGеEт6е==о9 6о9=K 6 <еEт4E 8E пDо6864=8O 
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10.00 – о5D4Mе=8е �Dе78де=т4  оEE89Eко9 $едеD4F88 �.�.�ут8=4                 
О5JO6ле=8е <8=утK <олG4=8O. 
�=о7оG4Eо6о9 �EеDоEE89Eк89 теле<4D4Dо= GеEт6о64=8O 6етеD4=о6                 
6 D47=KE у7олк4E =4Hе9  од8=K. 
 

 

 

 

 

� 19.00 QD8DO оE=ов=OE теле 8 D4д8ок4=4лов пDеDвутEя для тD4=EляF88 «�8=утO 
<олч4=8я». �о еU око=G4=88 6едуI8е пDедло64т 6K9т8 =4 54лко=K 8л8 6Eт4тL у ок=4, 
деD64 6 Dук4E тD4д8F8о==Kе Hт4=д4DтK л85о пDоEто Dото7D4D88 E поDтDет4<8 E6ое7о 
DодEт6е==8к4 - уG4Eт=8к4 �ел8ко9 ОтеGеEт6е==о9 6о9=K 8л8 тDу6е=8к4 тKл4. �D46д4=4< 
пDедл474етEO 6 Mто 6е 6Dе<O 6Eе9 Eе<Lе9 8Eпол=8тL пеE=N �468д4 &уE<4=о64 =4 Eт8E8 
�л4д8<8D4 %4D8то=о64 «�е=L �о5едK», 6Eпо<=86 п46H8E 74  од8=у, 8 Eк474тL Eп4E85о 
686K<. 

21.50   �Eе 68тел8 6EеE 7оDодо6 8 Eел  оEE88 6 7=4к п4<Oт8 подEодOт к ок=4< 8 746874Nт 
Dо=4D8к8. �EтоG=8ко< E6ет4 <о7ут 5KтL E6еG8, 5Kто6Kе Dо=4D8к8, Dо=4D8к8 телеDо=о6 
8 E<4DтDо=о6. �о <K <о6е< од=о6Dе<е==о 746еGL E6ет =4Hе9 п4<Oт8 8 =4Hе9 
5л47од4D=оEт8 9 <4O 6 �е=L �о5едK. 
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ОE=о6=4O FелL – Eо7д4=8е оIуIе=8O пD47д=8к4 �ел8ко9 �о5едK 6 к46до9 Eе<Lе. �EеDоEE89Eк4O 
8EкDе==OO 5л47од4D=оEтL 6етеD4=4<, пеDед4G4 тепл4 8 D4доEт8 к46до7о 87 =4E. �оG8т4=8е п4<Oт8 
теE, кто отд4л 74 =4E 687=8 8 6оEEт4=о68л <8D =4 7е<ле. �едL 8<е==о о=8 д4л8 6о7<о6=оEтL 6Eе< 
=4< 68тL под <8D=K< =е5о<! 

�DO<Kе 6клNGе=8O Eо 6Eе9 EтD4=K 6 D4<к4E GеEт6о64=8O 6етеD4=о6: 
�Eпол=е=8е 6ое==KE пеEе= 6 D4<к4E 4кF88 «#�ое<�6оDо<»; 
�4D4дK у до<4 6етеD4=4; 
&е4тD4л87о64==Kе по7дD46ле=8O 6етеD4=о6 под 8E ок=4<8; 
�еDед4G4 6оло=теD4<8 под4Dко6 6етеD4=4<; 
�Eпол=е=8е 746ет=о7о 6ел4=8O 6етеD4=4 6 D4<к4E 4кF88 «�еGтK по5ед8теле9»; 
О5Iе=8е 6етеD4=о6 E од=ополG4=4<8 8 дDу7LO<8 87 D47=KE у7олко6 EтD4=K E по<оILN 
68деоE6O78; 
�8лд5оDдK E те<4т8GеEк8<8 Dото7D4D8O<8 8 F8т4т4<8 6етеD4=о6; 
�о7дD468телL=Kе 7D4DD8т8 6о д6оD4E 6етеD4=о6; 
ОDоD<ле==Kе ок=4 до<о6 D8Eу=к4<8 «#ОК��_�О���Ы»; 
�KEод E поDтDет4<8 545уHек 8 пD4545уHек, дедуHек 8 пD4дедуHек =4 54лко=K под пеE=N �е=L 
�о5едK; 
�еGеD=OO 4кF8O пDо Dо=4D8к8. 
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�D46д4=Eк4O 8=8F84т864 пD8764=4 EоED4=8тL 6 к46до9 Eе<Lе 8 6 к46до< до<е п4<OтL о5 уG4Eт=8к4E 

�ел8ко9 ОтеGеEт6е==о9 6о9=K, о к46до<, кто, =е 64леO 687=8, ко64л по5еду =4д 6D47о<, 5оDолEO 74 
оE6о5о6де=8е  од8=K. 

! уGето< Eло686Hе9EO Mп8де<8оло78GеEко9 E8ту4F88 DоD<4т пDо6еде=8O 4кF88 9 <4O 5удет 87<е=е= 
8  пDо6еде= 6 о=л49= DоD<4те. 

��%���К�: 
! 28 4пDелO =4G=етEO Dекл4<=4O к4<п4=8O 6 !��, 6 то< G8Eле полL7о64тел8 кDуп=е9H8E 8=теD=ет 

EеD68Eо6  у=ет4 полуG4т пDедло6е=8O пD8=OтL уG4Eт8е 6 4кF88 «�еEE<еDт=K9 полк - о=л49=». 

'G4Eт=8к 4кF88 74пол=Oет DоD<у E 8=DоD<4F8е9 8 Dото DодEт6е==8к4-6етеD4=4 8 E6о8< Dото =4 E49те 
�еEE<еDт=о7о полк4  оEE88  polkrf.ru  8 од=о9 87  п4Dт=UDEк8E плоI4док: E49те пDоект4 «�4=к �4<Oт8», 
GеDе7 EоF84лL=Kе Eет8 «�Ко=т4кте» 8 «Од=окл4EE=8к4E». 

!о7д4етEO ед8=4O 5474 д4==KE 87 котоDо9 46то<4т8GеEк8 DоD<8DуетEO  68деоDOд 87 Dото7D4D89 

уG4Eт=8к4 6о9=K 8 е7о DодEт6е==8к4 E E8<6ол8ко9 4кF88.  

&D4=EлOF8O «(еEт68O» 74пл4=8Dо64=4 =4 <ед84MкD4=4E   оEE88, 6 то< G8Eле 7.�оEк6K, D47л8G=KE 
online-пл4тDоD<4E 8 =4 поDт4ле «�еEE<еDт=о7о полк4  оEE88».  
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9 <4O 6о7ле до<4 к46до7о 6етеD4=4 пDо9дет E6о9 у=8к4лL=K9 п4D4д. 

�о8=Eк8е подD47деле=8O 8л8 пDедEт468тел8 E8ло6KE 6едо<Eт6 пDоEодOт EтDое6K< <4DHе< пеDед ок=4<8 
6етеD4=4. К т4ко<у п4D4ду <о7ут 5KтL пD86леGе=K куDE4=тK Eу6оDо6Eк8E, =4E8<о6Eк8E, к4детEк8E 8 
к474GL8E коDпуEо6 8л8 кл4EEо6, 4 т4к6е Gле=K 6ое==о-п4тD8от8GеEк8E клу5о6 8 оD74=874F89.  

��%���К�: 
ОD74= 8Eпол=8телL=о9 6л4Eт8 Eу5Jект4  оEE89Eко9 $едеD4F88, от6етEт6е==K9 74 под7ото6ку 8 пDо6еде=8е 
тоD6еEт6е==KE <еDопD8Oт89, E6O74==KE E пD47д=о64=8е< 75-лет=е7о N58леO �о5едK, Eо6<еEт=о  
E E8ло6K<8 6едо<Eт64<8 8 дDу78<8 748=теDеEо64==K<8 оD74=874F8O<8 пDоD454тK64ет 6опDоE  
о 6о7<о6=оEт8 пDо6еде=8O п4D4д4 (EтDое6о7о пDоEод4 E пD86леGе=8е< оDкеEтD4) у до<4 6етеD4=4. 

�етеD4=о6 8 8E DодEт6е==8ко6 о пDедEтоOIе< <еDопD8Oт88 8=DоD<8DуNт EоF84лL=Kе Eлу65K, котоDKе 
74=8<4NтEO 8E EопDо6о6де=8е<.  

�О� «�оло=теDK �о5едK» о5еEпеG864ет 8=DоD<8Dо64=8е 68теле9 5л87ле64I8E до<о6, D4Eкле864O 
8=DоD<4F8о==Kе л8EтK.  

�4D4д <о6ет оEуIеEт6лOтLEO по 6едо<Eт6е==о9 пD8=4дле6=оEт8 6етеD4=4 (�8=о5оDо=K  оEE88,  
!ледEт6е==K9 ко<8тет  оEE89Eко9 $едеD4F88, �'!  оEE88, $!О  оEE88 8 дDу78е).  
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�46е оEт464OEL до<4 <о6=о пD8=OтL уG4Eт8е 6 <4EEо6о< пD47д=о64=88. &KEOG8 око= по 
6Eе9 EтD4=е <о7ут Eк474тL «!п4E85о!».  47укD4EL 6<еEте E Dе5е=ко< ок=о E6ое7о до<4 
D8Eу=ко< о �о5еде 8 Eло64<8 5л47од4D=оEт8.  

'кD4EL ок=о 8 6Kло68 Dото 6 EоFEет8 E EеHте7о< #ОК��_�О���Ы. 
 

��%���К�:  

�<еEте E Dе5е=ко< E 8EполL7о64=8е< к8Eте9 8 кD4Eок, к4D4=д4Hе9, Dло<4EтеDо6 8л8 
<елко6 Eдел4тL D8Eу=ок, отD464NI89 уG4Eт8е Eе<L8 (пD4дедуHк8, пD4545уHк8)                  
6 �ел8ко9 ОтеGеEт6е==о9 6о9=е. �о6=о Eдел4тL D8Eу=ок =4 6ое==уN те<у, л85о                      
по <от864< =ед46=о пDоE<отDе==о7о D8лL<4 8л8 пDоG8т4==о9 6<еEте E Dе5е=ко< к=878. 
 8Eу=ок D47<еI4етEO =4 ок=е до<4, Gто5K пDоEо68е 68дел8 D8Eу=ок. 

ОD74=874тоDK 4кF88 – �EеDоEE89Eк89 ко=куDE длO HколL=8ко6 «�олLH4O пеDе<е=4» 

8  оEE89Eкое д686е=8е HколL=8ко6.  

�4Dт=еD 4кF88 – Я=декE. 
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! FелLN пD86леGе=8O <4кE8<4лL=о7о кол8GеEт64 лNде9 к по7дD46ле=8N 
6етеD4=о6 E пD47д=8ко< �о5едK 6 EоF84лL=KE EетOE Dе4л87уNтEO 
DлеH<о5K по =485олее 6оEтDе5о64==K< те<4т8к4<. 

«�O вEе D4в=о Eк46е< Eп4E85о» - лNд8 пD8EKл4Nт E6о8 коDотк8е 
68деоо5D4Iе=8O Eо Eло64<8 5л47од4D=оEт8 6етеD4=4< 8 п46H8< 6о8=4<; 

«�4Eлед=8к8 �о5едO» - 68деоDол8к8: дет8 8Eпол=ONт 6ое==Kе пеE=8, 
Eт8E8 о 6о9=е 8 �о5еде. 



��!0�О �О���/ 

�О� «�оло=теDK �о5едK» по 6Eе9  оEE88 пDо6одOт 4кF8N «�8EL<о �о5едK». 
�кт868EтK �686е=8O 6<еEте Eо Eтуде=т4<8 8 HколL=8к4<8 =4п8Hут 

6етеD4=4< �ел8ко9 ОтеGеEт6е==о9 6о9=K по7дD46ле=8O E пDедEтоOI8< пD47д=8ко<. 
ЛN5о9 6ел4NI89 <о6ет пD8Eоед8=8тLEO к 4кF88 8 =4п8E4тL Eло64 5л47од4D=оEт8 
6етеD4=4<, пDоO68тL 745оту 8 6=8<4=8е.  

��%���К�: 

�лO уG4Eт8O 6 �кF88 =ео5Eод8<о Eк4G4тL 5л4=к �8EL<4 =4 E49те 6оло=теDKпо5едK.DD, 
74пол=8тL 8 6KEл4тL =4 MлектDо==уN поGту - pismo@vsezapobedu.com. 

�оло=теDK �о5едK доEт46Oт п8EL<4 6етеD4=4< до поGто6о7о OI8к4 E 7 по 9 <4O.  
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